
■ かけ算の答えを筆算で考えましょう。

① 11 × 5 ＝ ⑥ 15 × 2 ＝ ⑪ 82 × 3 ＝

× × ×

② 53 × 5 ＝ ⑦ 53 × 7 ＝ ⑫ 24 × 9 ＝

× × ×

③ 25 × 4 ＝ ⑧ 41 × 8 ＝ ⑬ 67 × 3 ＝

× × ×

④ 94 × 2 ＝ ⑨ 79 × 2 ＝ ⑭ 61 × 4 ＝

× × ×

⑤ 12 × 2 ＝ ⑩ 37 × 4 ＝ ⑮ 17 × 8 ＝

× × ×
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■ かけ算の答えを筆算で考えましょう。

① 11 × 5 ＝ ⑥ 15 × 2 ＝ ⑪ 82 × 3 ＝

1 1 1 5 8 2

× 5 × 2 × 3

5 5 3 0 2 4 6

② 53 × 5 ＝ ⑦ 53 × 7 ＝ ⑫ 24 × 9 ＝

5 3 5 3 2 4

× 5 × 7 × 9

2 6 5 3 7 1 2 1 6

③ 25 × 4 ＝ ⑧ 41 × 8 ＝ ⑬ 67 × 3 ＝

2 5 4 1 6 7

× 4 × 8 × 3

1 0 0 3 2 8 2 0 1

④ 94 × 2 ＝ ⑨ 79 × 2 ＝ ⑭ 61 × 4 ＝

9 4 7 9 6 1

× 2 × 2 × 4

1 8 8 1 5 8 2 4 4

⑤ 12 × 2 ＝ ⑩ 37 × 4 ＝ ⑮ 17 × 8 ＝

1 2 3 7 1 7

× 2 × 4 × 8

2 4 1 4 8 1 3 6

100 328 201

55 30 246

265 371 216

188 158 244

24 148 136
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